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Q.9. C++ﬁm%ﬁﬂﬁmwm@ﬁaﬁﬁﬁﬁ
TR Y WHST

Describe exception handling in C++ and write different steps
used in exception handling.

&9t [ OR
SICT AR T §? UG 3P YR &7 guf S

Explain data structures and its types in details.

Q.10/ER13: 1 8?7 3% fafte smer @ avfa iR
What is queue and explain its different operations.
@t | OR :
o fore @ 27 3w RS waR &1 wwemsw)
What is linked list? Define different types of linked list.

Q.11/asq\ﬁﬂﬂ§&m%?mmwmgm%%m
Explain binary search tree with its type and property.
’ 319at [ OR
feas ard &1 avfa HIR FwH wwnlRen @ I
HHATLS |
Explain Quick sort with its algorithm and example.
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B.Sc. lll Sem. Computer Science
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C++ and Data Structure

Time Allowed : Three Hours
Maximum Marks : 85

TS ‘I’ TS 99T BT 81 THP TAH 1 3F 21
In section A each objective type question carry 1 mark
each.

i) WUS 'Y oY ST 0T B & A 5 3 B
In sectiofi B each short answer type question carry
5 marks. .
i) W8 [ G IAN U BT R TADY 9 3w B
In section C each long answer type question carry 9 marks.
' T - ‘3’ | Section - A
TGS 9 / Objective Type Questions
Q1. @@ e gl
" Choose the correct option:
i) STL&T ard g
What does STL stands for?
- ~fa) Simple Template Library

(b) Standard Template Library
(c) Static Type Library

{d) Single Type based Library

onlineBU.com

YA-169 ML-71 PTO.



onlineBU.com (2)

) G T T SRR A T AR I AT
2!

Which of the following is the most common way of

implementing C++. - .

(@) C++ programs are directly compiled into native
code by a compiler

i intermediate
C++ programs are first compiled toin :
© codepb;)g compiler and then executed by a virtual

machine. - ,
(c) C++programsare interpreted by a an interpreter.

(d) A C++editor directly compiles and executes the
program ' ?
ii) aﬁﬁmmmmaﬁ@m.
. Which of the following operator can't be over loaded.
(@) A{dotor member access operator)
(b) -(Address of operator)
(c) Size of operator
@ 7 (conditional operator)
e T B Y TR T 2?
How do we declare an a?stract clas.s. .
(a.) By providing atleast one pure virtual me

class. : |
Lb) By declaring atleast one method absfract using

keyward 'abstract’ in a class. .
By declaring the class abstract with th

'abstract
Itis not possible to create abstractcla

odina

e keyword
(c)
sses in C++

(d)

ML-71 ,' Contd.....
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(3)

R B T Pl Y ST T 87

How do we declare an 'interface’ class.
.(a) By making all the methods pure virtual in a class.

" (b) By making all the methods abstract using

keyword 'abstract' in a class

(¢) By declaring the class as interface with the
keyword interface.

(d) Itis not possible to create interface class in C++

fafs Fam & fire smesiee & fi ¥ e Jaw
T &t fsaft st wiem g wadt 2

How many copies of a class static member are shared
between objects of the class

(@) A copy of the static member is shared by all
objects of a class

(b) A copy is created only when atleast one objects
Created from that class

(c) A copy of static member is created for each
~ instantiation of the class '

(d) No memory is allocated for static members of a
class

Const(aﬂwiz)fmtimm%mﬁsaﬁéaﬁw
T 2 .

Which of the following is true about const member
function '

[2) Constmembers can be invoked on both const as

well as non const objects

(b) Const members can be invoked only on const
objects and not on non const objects

(c) Non const members can be invoked on const
objects as well as non const objects

(d) None ofthe above
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xi)

xii)

)

std : * bad-alloc TERTEA A FTATE?

What is std : : bad-alloc exception thrown? ’

(a) When new operator can not allocate memory

(o) When alloc function fails

(c) When type requested for new operation is
considered bad this exception is thrown

(d) When delete operator cannot delete the
i

allocated object

T Bl @ ¥R TEA D SMd alto-ptr & AT
T XS el
Which of the following header file of Std :: is attached

with alto-ptr?
(@) <memory> [b) <alloc>
(c) <anto ptr> (d) <smart ptr>

aﬁ@mam%aﬁ-@%maa'
%ahzmﬁmm?hazﬁmﬁiamﬁw@am

If a node having two childrenis deleted from a binary

tree it is replaced by its
(a) Inorder predecessor (b) Inorder successor

(c) Preorder predecessor (d) None of the above
7 @ o aff e o s St @ g A
0(1) T34 et 21

The searching techniques that takes 0(1) time tofind

adatais _
(a) Linear search (R} Binary search

(c) Hashing (d) Tree search.
q9d Jic & gRI 5,1,6,2,4-?»’!313%%%:?1#1%%

fre fre™ agad T g3

The number required ofinterchanges to sort5, 1,6,2,4
in ascending order using bubble sortis

@ 6 @ 5

¢ 7 (d) 8
' ML-71 Contd.....

(5)

xiii) oR s wrge O B9 50, 10,25 15 Rerd
2 @) uof e A fba wwg RN

Merging 4 sorted files containing 50, 10, 25 and 15
records will take time.

(@ o(100) (b) 0(200)

- (@ 00179) (d). 0(125)

Xiv) UF ISTENGSS WH R f u aReRR W e
R & A I G @ e @

g
(a) 2n (b) (2n—-1)/2
(c) 2e 0 (d) e22

xv) gn+1a‘wésmgmms=iﬂ§ﬁm%'
A full binary tree with 2n +1 nodes contain
(@ nleaf nodes [b) nnonleafnodes
(c) n-1leaf nodes (d) n-1nonleafnodes

8% - ‘T’ / Section - B onlineBU
LCom
WY Suig !TE.H I Short Answer Type Questions |

What i
IS type cast operator? Explain type casting and its type
S4aqt /| OR |
\(I:v: tas I91 U9 3ror forRaw)
atar
e the advantages and disadvantages (;f C++ explai
in
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Write a program to pass What are advantages of header linked list as compared to
ispa | - oreap normal link list?

s parameterized constructor

tv\\rllt;a;e‘zr:meter using parameter constructor.

34ar /| OR '
g | OR . Tt e et ) 0 0 FPR DY WA
> wd IRd ¥ aFFA DI ' Explain binary search and its types in details. .
sy dw e &7 B | HIfoW onlineBU.com
W?@Waﬂm%wméw @vg - ‘@’ / Section -C
\gg:tou? ritéféﬁag‘iiiﬁetﬁf:gslz :ﬁfﬁz :bpsrsgg??a?ecc?;csusl.ate - & Sadg 97 / Long Answer Type Questions
_— . Q7. C++ H g8 FUT 8? AAS &Y WHST
Q4. C++ ¥ grser @t 2 7 R ROl 3 UTEeR B SRR What is c++ keywor(;‘:“E;;p/lagu Reach one of them.
7 & R wf" é?cﬁv Explain various steps involved in R taer ¥ax 79T 42 T B AT P I TR
t is pointer In (
\;I)\c{:?rier i,ﬁplementaﬁon. | oR ‘ itg?sztmtmlmber? Write a program to calculate
YAl

volume of a cuboid box.
. ¥ T .
ﬁamma?wm*w isoointer. Q8 TS TS T 82 T& W & 9ream Ry 7
Whatis this pointer? Write a program to explain this p ¢ ¥ T A TR W B 30w @ ok T TRT IqF

| e @ Erafe sRd % wem @ s Sy
0.5, 321 Trga T 87 6 FAR - Whatis hybrid inheritance? Write a
il

. details Roll No. their subject mar
What is Data type? Describe its various types? student using hybrid inheritance.

program to enter student
ks and calculate score of a

HYA | OR ' A9 / OR
. C++'mmam%7ﬁﬁwmasmmam'
< a7 g R siert | R G i R o gy
¢ ++ .
: : i tack. . | _
Whatis stack? Describe different operations on s EXplain C++ operators. List various binary operators in G
YA-
ML-71 - Contd.... 169 _ ML-71
YA-169 .
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